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SOLUTIONS

1. (a) Observing that V4 = 2, the only natural number in the set is V4.

(b) The integers in the set are 0, /4, —5, —102.
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(c) The rational numbers in the set are 0, V4, —5,-102, 3 7.45, 7

(d) The irrational numbers in the set are g, V3.

2. (a) The inequality in set B is strict, which is not the case in set A. This means that 2 € A
but 2 € B. Otherwise, the two sets are identical.

(b) Set A consists of all real numbers less than or equal to 2. Set C' consists only of the
integers less than or equal to 2, which means that we can write

C=1{21,0,—1,-2,-3,...}.

As a result, there are many rational and irrational numbers which are members of A but
not members of C. For instance, % € A but % ¢ C.

3. (a) This is equivalent to the interval [—2,2]. It can be represented by




(d) This is equivalent to the interval (—oo,0] U (£,3). It can be represented by
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